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(1) ABLARTE
V= AXB

=30.000 X 4.000
= 120.000 (m®
(2) AL E
W= VX vy
=120.000 X 26.00
= 3120.00 (kN)
(3) M= I K S )
P= Wxkh
=3,120.00<0.30
= 936.00 (kN)

(4) EHE TOPAERS
D) =R (E 1)

D EHORITER =

y: HAFEEE =
kh: BREPKEREE =

L1=Ls2-Lsl=2.000- 0.000 =
Al =L1XBsl =2.000X2.000 =
Cl=A1XCe =4.000X375.0 =

2.000
4.000
1,500.00

. L1 mlEm oA mRS

Al : ABLK T OB 5 HfE
Cl : ABLE I DA RS

L2 =Ls4 - Ls3=6.000 - 4.000 =
A2 = L2XBs2 =2.000X2.000 =
C2=A2XCe =4.000X375.0 =

2) = BUR IR (Z D2)

2.000
4.000
1,500.00

. L2 ElRmOBAE RS

A2 : ABLJK T O¥E 5 HifE
C2 : ABLIE I DR RS

30.000 (nd)
4.000 (m)
26.00 (kN/m®)
0.30

(m)
(m)
(kN)

Bsl: #E5BITERE
Ce : B2ET8E (kN/m)

(m)
(m)
(kN)

Bs2: #EBITER
Ce : B2ET8E (kN/m)
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Ws = WXsin 0 = 3,120.00 X sin(25.00)
= 1,318.57 (kN)

B OF RO FFE Sy
Ps = PXcos 6 =936.00 X cos(25.00)
= 848.30 (kN)

EENVEEE
S=Ws+ Ps=1,318.57 + 848.30
= 2,166.87 (kN)

2) &Pt h

- H EICLDEEEEDL ) [VEEhFR A ]
R1=WXcos0 X u =3,120.00 X cos(25.00) X 0.50
= 1,413.84 (kN)

NEME I B BRI D 4y
R2 = PXsin 6 X u = 936.00 X sin(25.00) X 0.50
= 197.79 (kN)

ABE R E(F D) DOHEE 1] (B AWRE)
R3 = Cl1
= 1,500.00 (kN)

EBE N (F D2) DS 11 (B AWIRE)
R4 = C2
= 1,500.00 (kN)
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Cl : HHREAEEN(Z D DEEFE RS (kN)
C2 : HHREAE N (Z D235 RS (kN)

AT IWAR
R=Rl1-R2+R3+R4
=1,413.84 - 197.79 + 1,500.00 + 1,500.00
= 4,216.05 (kN)

(3) VEEh A 422
Fs=R/S
4,216.05 / 2,166.87
1.95 =Fspl= 1.20 OK'!
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Mo = PX Yg = 936.00 X 2.500 p
= 2,340.00 (kN+m) I
Mo
=

(2) IRHTE— AR

cHEIIDHEBTE— AR

Mrl = WX Xg = 3,120.00 X 2.500 e /}
= 7,800.00 (kN+m) > o C

S BT DD DL I LAHEHE— AL b Mr 1

Mr3
[HRfE T ]

Mr2 = 1/2X (Ls1+Ls2) X C1
= 1/2x(0.000+2.000) X 1,500.00
= 1,500.00 (kN+m)

E BT (E D2)DEAE TN L HHPTE— A b
Mr3 = 1/2X (Ls3+Ls4) X C2

1/2 % (4.000+6.000) X 1,500.00
7,500.00 (kN-+m)
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Cl : HHREAEEN(Z D DEEFE RS (kN)
C2 : HHREAE N (Z D235 RS (kN)

P — AN EE

Mr = Mrl + Mr2 +Mr3
7,800.00 + 1,500.00 + 7,500.00
16,800.00 (kN+m)

(3) HAfH| 2 45
Fs = Mr / Mo
16,800.00 / 2,340.00

7.18 =Fsp2= 1.20 OK'!



